
https://www.geekcert.com/issap.html
2024 Latest geekcert ISSAP PDF and VCE dumps Download

 

 

 

ISSAPQ&As

ISSAP Information Systems Security Architecture Professional

Pass ISC ISSAP Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/issap.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ISC Official
Exam Center

 

 

Latest ISSAP Dumps | ISSAP PDF Dumps | ISSAP Study Guide                                1 / 3

https://www.geekcert.com/issap.html
https://www.geekcert.com/issap.html
https://www.geekcert.com/issap.html


https://www.geekcert.com/issap.html
2024 Latest geekcert ISSAP PDF and VCE dumps Download

QUESTION 1

Which of the following authentication protocols sends a user certificate inside an encrypted tunnel? 

A. PEAP 

B. EAP-TLS 

C. WEP 

D. EAP-FAST 

Correct Answer: B 

 

QUESTION 2

Which of the following is an input device that is used for controlling machines such as cranes, trucks, underwater
unmanned vehicles, wheelchairs, surveillance cameras, and zero turning radius lawn mowers? 

A. PS/2 

B. Joystick 

C. Microphone 

D. AGP 

Correct Answer: B 

 

QUESTION 3

Which of the following processes is used to identify relationships between mission critical applications, processes, and
operations and all supporting elements? 

A. Critical path analysis 

B. Functional analysis 

C. Risk analysis 

D. Business impact analysis 

Correct Answer: A 

 

QUESTION 4

Which of the following statements about Public Key Infrastructure (PKI) are true? Each correct answer represents a
complete solution. Choose two. 
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A. It uses symmetric key pairs. 

B. It provides security using data encryption and digital signature. 

C. It uses asymmetric key pairs. 

D. It is a digital representation of information that identifies users. 

Correct Answer: BC 

 

QUESTION 5

Which of the following protects against unauthorized access to confidential information via encryption and works at the
network layer? 

A. Firewall 

B. NAT 

C. MAC address 

D. IPSec 

Correct Answer: D 
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